No.1
FSvD - TJ4—)LFHEH - F:&E - R - R - SLfRE

et BE = — i ar] s eara EETEEREEFERS =— B[ 23310711 | #HRE HAKER
B biley WEmELBEBS win s BEME B ILELERS =— | 314010 ek FREE
] AN EEEEEE = || BEEE A = (] BEHE A =g W] BEEEA =en || BEEE A s [E] BEEE A =g (] BB 4 = (] BEHE 4 =,
ERDS i H b gy Ll L, Gk I LR, Aok v R, Aok I LR, Aok i L, K v LR, Gk I L, Ao v LR, KD
06/10|—#% - BB F| RB 1|ZE WBK 2| 11.7 |[2|EK Kt 1| 12.7
100m -0 5 A=) BEe
06/10|—#% - BB F| RB 1|R& #HME 2| 53.8 |[2|=mM FKkE 2| 55.6 |3|FME mEK 2| 56.5 [[4|XKEH HEE 1| 58.3
400m e B BE
06/10|—#% - BB F| RB T|f#E ME 2| 1m60
EEEk
06/10|—#% - BB F| RB 1R w3k 1| 12m56
=B ) +1.9
06/10|—#% - BB F| RB 1]t K&t 2| 1om12 [[2[F&%F@E 1Rl 2| 10mO1
i 4.3% [6. 000kg] e b1
06/10]—#& - BB F| iRB T K& 2| 50m02
oY $%[800g] )
06/10(—#& - Bk F| Rk XE EZW 1| X5
100m A
06/10|—#% - B4k F| RB T|EH =& 2| 4m8d
iz Bk A +0.6
06/10|—#% - B4k F| iRB T[4 eF 2| 8m64
fa 3% [4. 000kg] 55
06/10|—#& - Bz F| iR T4  @Fi 2| 23m65
245 [1.000ke] EE
06/10| 1 Eh2EBF| F:E| M| 1| T+ & 1| 12.4 [[2|#8 #E 1| 13.6 |[3|Bix B 1] 143 [[4|=& WE 1] 15.2 ||5[#®Kx @F 1| 16.6
100m 0.2l UBEE D | ARH )| EEE=— BEE G BEE= BEEE=T
06/10( 1 Fep2 2B F| F:E | 248 1 [/MEFRALE 1| 13.3 | 2|4&& #E 1| 13.8 |[3|&HF =B=&x 1| 13.9 [4|kWEF #HFE 1] 14.3
100m 0.6 [EHE=d WHEE o EHE _—t RS
06/10| 1 FEh2EBF| iREF 1| F# g 1] 129 [[2[/hEEALE 1| 13.3 [|3[#2E FE 1| 13.5 [4|®&HF BFE 1| 13.7 |5[4&#%E FME 1| 13.8 [6|=Rix & 1] 14.0 || 7[FIER f&FE 1| 14.5 (|8[=Z W@WE 1| 15.1
100m +3.3 |EHgE—h WEE=G BEE=G BEE G WEE & BEE G WEE G BEE=G
06/10( 2 Fchp 4 BF| RS 1T|%8# EZx 2| 13.0
100m _[+0.9 aéz =2 ___ _
06/10| 3 FEh £ BF| iREF 1 EN 3| 12.1 | 2|k =& 3| 12.4 ||3|&L ME 3] 125 |4|&5 ¥ea 3| 12.8 |0|AE B 3] 13.2 |6|aa &&= 3| 13.5
100m __1+0.5 r“w EpeE =t EHE—t EReE—t EHE=—t EReE =t
06/10(FFEEBF | RES T/hERARH 3] 56.9 [[2[&@E Z=K 3| 1:01.7| 3|4 HmE 3] 1:02.3
400m EHRE=t EHE=t EEE G
06/10(FEEBF | RES 1[2E ZZ 3| 2:16.9|[2|BEE>F 3| 2:21. 7| 3[H8E BB 3| 2:22.5 (|4 [+ Hm 3| 2:28.6(5(fGk FE 1] 2:55.1[[6[hE [BHA 1] 3:02.1|7|=% @%E 1| 3:04.3 =) BHE 1] XRim
800m EHE_—t EHEE=G BEE=G EEE G BEE G EHE=G EHE =t BRS¢
06/10(FFEEBF | RES T|REBEE=+ 48.8
4% 100mR g =R 3
NEFJRORH 3
/l\Lﬂ?Jﬁ%,\ 1
agg ZA 3
06/10|hABF | RES T2l RIE 3[enec3 0| 2 [Mas 4LE 3[m03¢24)|3|FIR (HE 3| 4m6¢23)| 4| E3L @ 1]4n0562.4)
FEIEBE EHE—t 4A5m75 (+0. 4) EHAE G 234m70 (+1.2) EEE_—t 734m40 (+1.9) EHEE G 433m64 (0. 0)
06/10|FFEBF | RE 1|&a &€ 3] Tm60 [2[4&# =HZE 1| 5m77 F SN 3 x5
Fa 3% [5. 000kg] mEE= mEE o EHE=—h
06/10| 1 FEp2E & F| R T[wE BE 1| 142 (|2|#LE #E 1| 144 |[3 |54 M 1] 15.9 [[4|®E F& 1] 16.9
100m A (e WEE & EEE =G BEE=F
06/10| 2 FEh & F| RS E:H:JII Z 2| 137 [|2|WLT = 2| 140 |[3|wx ZBXR 2| 141 [4|58 F=% 2| 145 ki WBE 2| X5
100m 0.1 |#EHE=d EHE=—m EHE—h EHeE=t EEE—t
06/10] 3 Fepzp & F | iRE =< H 3 XRiG ER #F% 3] Xi5
100m EHE=—h WEE=T
06/10|hFERZF | iR 1aE = 2| 30.9
200m +1.8 EHE=d
06/10|hF4EZF | iR T[#LE #BE 1] 22453 (12| m=BEECE 3| 2:52.4|[3|RE F& 1] 3:22.2
800m EHE—t EHE=t EHE=—m
06/10| AL F | RE ECEEL] 56.9
4 x 100mR EHESILCH 3
Elwll w2
IF kR 2
!_ljﬁ_{ BH 2




No.2

bSvD - TJ4—ILRFIEE - FE - ZERE - R - SRR
Feth BER :—PW s et EEmELGREFERS =— | 23310711 R WMARER
FHEFAK FiEmE LR win s BEME B ILELERS =— F| 314010 ek FREE
] I EEEEE s A BEEE 4 = WA BEEE A4 = (MB] BEEE 4 =en || BEEE A s [E] BEEE A =am |B] BEEE A =g |H| BiEE A =,
A fEH b gy Ll g k2 I LR, K v R, FERE I LR, ALgR i L, FERE v LR, Rk I L, ERE v LR, Rk
06/10|hZELF | REE 1T|iEsR @A 3| 1m2b
ik BEE_G
06/10|hEELF | REE 1T BE 2| 4m99 | 2(m#n 4&F 2| 3m98 |[3[EAO E& 1|mer¢23| 4L =2 1] 2m6bd &% #E 2] Xi5
=P e +1.7 Bt +0. 8 EHRE=h amsoet | |iEHE = 0.0 EgE—t
06/10|hFEZF | iRRE 1E® #% 3| 6mb9 [[2[lL T =& 2| 6mi3
A% [2. 7121kg] ERE= EEE=G
06/10|s=urresens | F3E | 14A] 1 |#BR K& 3| 8.7 |[2|%HE Exk 3| 9.0 [3|&Il 2% 3| 9.0 (4[xFH BH=E 3| 9.1
50m +0. 4] |MSA SMTC Jr SMTC Jr MSA
06/10[caurFrzens | T3& | 24E] 1[%EH Mk 3| 8.9 |[2[=fE XB 3| 9.1 |3[KX MWE 3| 9.3 |(4[kd =& 2| 9.4 |[5|5m Z% 3] 9.5
50m +0. 7| _|SMTC Jr MSA SMTC Jr SMTC Jr SMTC Jr
06/10|surnesns | REF 18R X& 3| 8.3 |2[s&m Mk 3| 85 |3[&E XB 3| 88 [4|&) £4E 3] 8.9 [52F BE 3| 8.9 |[6[|%E Bk 3| 8.9 |[7|& #WME 3| 9.2 |8[ixd R&E 2| 9.7
50m +0_ 1| [MSA SMTC Jr MSA SMTC Jr MSA SMTC Jr SMTC Jr SMTC Jr
06/10| 4 = BF| FE | 14H| 1 [1Ldh BHE 4| 15.3 [[2|4kdr XF0 4| 15.3 || 3=\ #51 4| 16.0 [4|%0O % 4] 16.0 [[5]|f8&K WX 4| 16.6 [6|tk<AKRIEAN 4| 16.6 [[7[/kA —E 4| 17.7 [[8|FEE £ 4| 18.8
100m +0.4) |SMTC Jr SMTC Jr SMTC Jr SMTC Jr SMTC Jr SMTC Jr SMTC Jr SMTC Jr
06/10|4 vz BF| FE | 240] 1| RS Bdn 4| 16.7 [[2|AFKE BK#H 4| 16.0 [|3|4&F £ 4| 16.7 (4|fkKx h8 4| 17.0 |[5|XK# 88 4| 17.1 [6[#a& ZA 4] 17.1 [[7|#EH K 4| 17.4 |[8|#L WEA 4| 18.4
100m +2.0| _|SMTC Jr SMTC Jr SMTC Jr SMTC Jr SMTC Jr SMTC Jr SMTC Jr SMTC Jr
06/10| 4 /4 BF| RS TS K#0 4| 155 [2[iuch BHE 4] 15.7 |[3|RE & 4] 15.9 [4|XE ®B#@ 4 16.4 |[5]|%0O B 4] 16.5 |6[=@ #1C 4| 16.5 |7[f8AX WX 4] 17.0 [8[tk&x £ 4] 17.0
100m +0.8) |SMTC Jr SMTC Jr SMTC Jr SMTC Jr SMTC Jr SMTC Jr SMTC Jr SMTC Jr
06/10] 5 F/h2EBF| REE T|AE —3%& 5| 14.7 HH X# 5| Xi5
100m +1.1)_|SMTC Jr SMTC Jr
06/10| 6 F/NFEEBF| RS 'Iu.lqz BR 6] 13.5 [2[/hF EtH 6] 147 [[3|/ME B 6] 15.9 [[4[iE#E #WE 6 18.9
100m +1.1)_|SMTC Jr SMTC Jr SMTC Jr SMTC Jr
06/10|/NEEEF | iREE 1[#8E 17 6| 2:49.2(|2|FHE K# 5| 2:56.5|[3[#&E KFn 4| 3:13.4 | 4|EHE &\ 6| 4:00.5
800m SMTC Jr SMTC Jr SMTC Jr SMTC Jr
06/10|/NEEBF | iREE 1[SMTC Jr A 58.1 |[2[SMTC Jr B 1:03.0 | 3|SMTC Jr D 1:07.2 [[4|SMTC Jr C 1:08.1
4% 100mR RE —i# 5 i Bt 4 P RIEN 4 HHE OK#E 5
it &K 6 FRE a4 4 [gui B4 KA W4
R 6 el KA 4 A R 4 fedi 2 4
Atk JE 6 /& i 6 A K 4 bk fER 4
06/10|/NEEBF | iRRE 1 ZEX 6] 1m3d5 |[2]3kRA —E 4] O0m90
EEBk SHTC Jr A& || [SMIC Jr
06/10[/NEEBF | R 1@ In 6| 3m87 2[R 6| 3m65 | 3|tk 2 4| 3mb8 [[4[¥F0O Bt 4] 3md6 || 5|AE BE 4| 3m27 (|6[iE<AKRIEN 4] 3ml9 |[7[FEA WX 4] 3ml9 | 8|Ek #HXKX 4| 2mI8
E Nz Bk SMTC Jr +0. 1 SMTC Jr +0.5 SMTC Jr 0.0 SMTC Jr +1.7 SMTC Jr +0. 6 SMTC Jr +0. 1 SMTC Jr +0.9 SMTC Jr 0.0
9[/h#k FEEHh 6] 2m76
SMTC Jr +0.3
06/10[/NEEBF | REE T[EwE = 4| 28m35 [[2[&# #mA 4| 25m61 ||3[AE —:& 5| 26mil |[4|HE @A 4] 16m25
Sy Ry HR—ILE SMTC Jr SMTC Jr, SMTC Jr SMTC_Jr,
06/10| s uFasens | REF 1A F& 3| 9.2 [2|#& EE 2| 9.5 | 3[#E* = 3| 10.1 [4[mE TE 3] 11.0
50m +0. 71 _|PRIDE AC SMTC Jr, SMTC Jr SMTC_Jr,
06/10] 4 FhepE & F | iRBE 1|k #27E 4| 16.3 [[2|EE #Ex 4| 16.6 (|3|AE =Imd 4 18.3
100m +1.601 |SMTC Jr SMTC Jr, SMTC Jr
06/10| 5 F/h % F| RES TREEG, 5] 167 |2[5%E fm¥ 5] 15.9 [[3[&us<n 5] 16.0 [4|#% #XF 5| 16.6 [5[&K & 5| 17.0
100m +0. 21 |MSA SMTC Jr, SMTC Jr SMTC _Jr, PRIDE AC
06/10| 6 F /& F| R 1[/hE 8F 6] 14.3 | 2[|#% I 6| 14.7 ||3[iEm #& 6 15.0 (4|2 #MA 6] 15.1 [[5;E#E =% 6| 17.5
100m +2. 1) [SMTC Jr SMTC Jr, SMTC Jr SMTC Jr, SMTC Jr
06/10|/NEELF | REE 1|3z #BA 6] 2:47.8 [[2[ZBE4aA 5] 3:00.2 |3|EE =X 6] 3:27.4 [[4[iEHE =2 6| 3:45.0
800m SMTC Jr MSA SMTC Jr SMTC Jr,
06/10|/NEELF | REE 1[SMTC Jr A 58.5 |[2]|SMTC Jr C 1:05.0 [[3[SMTC Jr B 1:07.3
4 x 100mR NE BT 6 SEH @ 5 FER % 6
AEEF 3 6 M #&1E 4 -
JENL HBIAL 6 ERE R 4 TEWE B 6
P R 6 AR I 5t b
06/10|/NEELF | REE T[&# Z# 6] 3m63 [[2[%EHE fmiZ 5| 3md6 | 3|EE #ax 4| dmi9 |[4[#2&X F& 5| 2m87
03Bk SMTC Jr +0. 6 SMTC Jr +0.2 SMTC Jr 0.0 PRIDE AC +0.4
06/10|/NEELF | iREE TIEE ZZ 6| 2/mi4 [2[&# Z=i2 6| 18ml5 ||3[iB #&x 6| 13md3 [4[2&X IEZE 2[ 9mi2
S ANY VI R—ILE SMTC Jr SMTC Jr SMTC Jr SMTC Jr




